wEKFR

I & 7 Al MAIRIIRKTE | B (% 2 [REHKE| K F | HER| HE
EEHE DRI OFN H 1.0 1 1/4.3/4
FSL RO TV L) = 1.0 1 1/4.3/4
—y— = 1.0 1 1/4.4/4
IS —Y—) =X 1.0 1 1/4.4/4
B ERE PRHE m3 38 4 3.78 2/3 |3/4.4/4
HE@garoy—k 18-8-40 m3 1.6 2 1.56 2/3 |3/4,4/4
HLavsy—k C-170 m3 0.4 04 041 2/3 |3/4.4/4
ERRR RC40 t=10cm m?2 8.3 8 8.29 2/3 |3/4.4/4
#BR m3 10 1 0.98 2/3 |3/4.4/4
B F R E Bk iERE ST IVT L = 1.0 1 3/3 |1/4.2/4
BRiEREE TRYE =X 1.0 1 3/3 |1/4.2/4
HBEMEIEL |EHILY)—b m3 3.1 3 3.1 3/3 |1/4.2/4
A9y H1 t 0.7 0.7 0.7 3/3 |1/4.2/4
=i H1 t 0.7 07 |07 3/3 |1/4.2/4
R m3 3.1 3 3.1 3/3 |1/4,2/4
BAL RL m3 0.8 0.8 0.75 3/3 |1/4.2/4
TREERK TRL m3 0.8 0.8 0.75 3/3 |1/4.2/4
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MY T IVD LERE
_ L w H e EFEL D)k HLavs)—k Ba KIE fQﬁ_
Ee= [0 @ ) @ B=0-1-2-0
(m) | (m) | (m) |(&@D (m3) (m3) (m3) (m2) (m3) (m3)
A 27| 27| 02 1] 2742.740.2%1 = 1.46|(2.7+0.1)%(2.7+0.1)%0.05%1 0.39(2.7+0.1)%(2.7+0.1)%0.10%1 0.78 [(2.7+0.1)%(2.7+0.1)*1 7.84((2.7+0.1)%(2.7+0.1)%(0.2+0.1+0.05+0.1 %1 = 353|3.53-1.46-0.39-0.78 0.90
it 1.46 0.39 0.78 7.84 353 0.90
@ —y—EH
_ L w H e EFEL D)k HLavs)—k Ba KIE fQﬁ_
w2 [0 @ ) @ B=0-1--3
(m) | (m) | (m) |(&@D (m3) (m3) (m3) (m2) (m3) (m3)
A 08| 04| 03 1]0.840.4%0.3%1 = 0.10|(0.8+0.1)%(0.4+0.1)*0.05%1 0.02(0.8+0.1)%(0.4+0.1)%0.10%1 0.05 [(0.8+0.1)%(0.4+0.1)¥1 0.45(0.8+0.1)%(0.4+0.1)%(0.3+0.1+0.05+0.1)%1 = 0.25|0.25-0.10-0.02-0.05 0.08
it 0.10 0.02 0.05 0.45 0.25 0.08
&it
HHELHY—h #BLary)—k BmAa RiE BER
(m3) (m3) (m3) (m2) (m3) (m3)
1.56 0.41 0.83 8.29 3.78 0.98
Et 3.78-0.98/0.9 = 2.69 m3
(RREEREERAN)
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2. BEREFH

OPEIZIIDIN

i

IE H HE B4 | &5
aU9)—MEE |2.6%2.6%0.4%1 = 270 m3 | (B%E)
mEkL s 0.20 t | (%)
HR 2.6%2.6%0.4%1 = 270 m3
@ IRY&E
IE H HE B4 | &5
a9 —MEE |1.0%0.5%0.4%2 = 040 m3 | (B%E)
o3y 0.50 t | (%)
HR 1.0%0.5%0.4%2 = 040 m3
a&t
IE H HE =“Fiva e
a9 —MEE |2.70+0.40 = 310 m3 ®@
mELS  [0.20+0.50 = 070 t @2
R 2.70+0.40 = 310 m3 ®@
RL 3.10/0.9-2.69 = 075 m3 @2
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